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’ 100kN/m%#%%| 1.00] 000 ~ 408 166.94 [3m%#8x5| 000 ~ 252| 427 22.84 | 100kN/m#%#B%% | 1.00 [10.81 ~ 68.00 166.94 [3m%#8x5(25.00 ~ 68.00 | 4.27 2284
Thilst 1.00 | 408 ~ 1187 100.00 | Zhist | 252 ~ 11.87 | 3.00 16.05 Thust 1.00 | 500 ~ 10.81 100.00 | #hist | 5.00 ~ 25.00 [ 3.00 16.05
2 100kN/mM%#B 2% 1.00 ] 000 ~ 387 163.02 |3m%#Ex%| 000 ~ 234 | 4.1 22.02 | 100kN/m##E%% | 1.00 |10.56 ~ 51.73 163.02 [3m%#BZ%(25.00 ~ 51.73 | 4.11 22.02
Zh st 1.00 ] 387 ~ 11.65 100.00 | #1ist | 2.34 ~ 11.65] 3.00 16.05 K10 1.00 | 5.00 ~ 10.56 100.00 | ZhList | 500 ~ 25.00 | 3.00 16.05
3 100kN/m%#%%| 1.00]000 ~ 1.90 129.21 |3mZEEBZE| — ~ — — —| 100kN/m#%#82% | 1.00 11053 ~ 17.43 129.21 [3mZi#BZ 5 -~ - - -
Thilst 1.00] 190 ~ 968 100.00 | #xuist | 000 ~ 968 ] 2.39 12.77 Thust 1.00 | 500 ~ 1053 100.00 | Zhlist | 500 ~ 17.43 | 2.39 12.77
4 100kN/mM%#B 2% 1.00] 000 ~ 0.73 110.82 |3m%F#BZ % _-~ — — —| 100kN/m%# B x5 | 1.00 |10.71 ~ 12.78 110.82 |3m%F{BZ % -~ — - —
Zh st 1.00] 073 ~ 8.51 100.00 | Znlist | 000 ~ 851 ] 2.29 12.23 Zh st 1.00 | 500 ~ 10.71 100.00 | Zhblist | 500 ~ 1278 | 2.29 12.23
5 100kN/m##BZ % — -~ = —|3mxEzB| — ~ - — —| 100kN/MZE#BZ 2 — - ~ - —|3m%EEZS -~ — — —
ZHn Lot 1.00 ] 000 ~ 7.76 99.67 | #nlist | 000 ~ 7.76 | 2.55 13.65 s 1.00 | 5.00 ~ 12.78 99.67 | Znlist | 5,00 ~ 1278 | 2.55 13.65
6 100kN/mM##B % % 1.00 ] 000 ~ 0.63 109.32 |3m%F#BZ % -~ - — —| 100kN/m#%#%% | 1.00 [10.81 ~ 12.78 109.32 |3m#F#BZ % -~ - — —
Zh st 1.00] 063 ~ 841 100.00 | Z1list | 000 ~ 841 ] 2.08 11.12 Zh st 1.00 | 500 ~ 10.81 100.00 | ZhList | 500 ~ 1278 | 2.08 11.12
7 100kN/mM##BZ % 1.00]0.00 ~ 0.55 108.11 |3mZEHE %% -~ - — —| 100kN/m%# %% | 1.00 [11.84 ~ 14.00 108.11 |3m%E#B %% -~ — — —
ZHn Lot 1.00 ] 0.55 ~ 8.33 100.00 | Z1List | 000 ~ 8.33 ] 1.97 10.57 s 1.00 | 500 ~ 11.84 100.00 | ZhList | 500 ~ 14.00| 1.97 10.57
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ Zhn s ~ Zh st ~ Zh st ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ ZhLst ~ Thilst ~ Thist ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zhst ~ Zh s ~ Zhn Lot ~ Zh LS ~
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